#R x| BE KA 2E B P ] %5 BB &%
1 100 12.55 | +0.4 |MEKER 1 |ER BiE ZEERE 07.22 |*
2 100 1256 | +0.6 [luA FEHE 2 |[FEE Rz ZEERE 10.10 |*
3 100 12.61 | +1.6 |FEE Hib 2 |RE+# ZERIUE ) ZERE 09.04 |*
4 100 12.67 | +0.4 |7k =8 1% &= ZERE 07.22 |*
4 100 1267 | +16 BT B& 2 |AR ZERIIUE ) ZERE 09.04 |*
6 100 12.75 | +1.8 |HHfh EE 3 |#MF Rz ZERE 10.10 |*
7 100 12.78 | +1.8 |—® EK 1 |#®F ZERIUE ) ZERE 09.05 [*
8 100 12.79 | +0.9 |FH RiE 3 |#F ZERIUE ) ZERE 09.04 |*
9 100 12.80 | +0.9 [IUH F3 3 ZERIUE ) ZERE 09.04 |*
10 100 12.88 | +0.6 |[B%F HMH 3 |FEE Rz ZERE 10.10 |*
11 100 12.92 | +1.3 (B EE 3 |=E &= ZERE 07.23 |*
12 100 13.00 | +1.0 [’"hk BE 3 |MER Rz ZERE 10.10 |*
13 100 13.01 | +09 AR B 3 |BE ZERIUE ) ZERE 09.04 |*
14 100 13.04 | +1.2 |A$  #H 2 |=ZE AR (BE2E) ZERE 10.03 |*
15 100 13.05 | +1.3 |EIEFE 2 |RBE BEHESFES ZERE 06.10 |*
16 100 13.09 | +0.4 |FERAIZLY 3 |AHEWL BEHESFES ZERE 06.10 |*
16 100 13.09 | +15 |£&H% BW 2 |#&vyE BiE ZEERE 07.23 |*
18 100 13.11 | +2.0 [@X #HE 2 |Ex Rz ZEERE 10.10 |*
19 100 13.13 | +1.7 O #&E 2 |XR BiE ZEERE 07.23 |*
19 100 13.13 | +1.8 |Ah X£F§ 3 |thats ZERIUE ) ZERE 09.04 |*

#R x| BE KA 2E B b ] %5 AEF  |EE
1 200 2551 | +0.6 [IUA FEFx 2 |[FEE &= ZERE 07.22 |*
2 200 25.61 | +1.3 |Ff EE 3 |#MF &= ZERE 07.22 |*
3 200 25.99 | +2.0 |[MEAKEDR 1 |ER iR ZERE 07.30 |*
4 200 26.23 | +1.0 BT BEH 1 AR ERE = (E20E) ZEEE 10.03 |*
4 200 26.23 | +1.3 [MBWHEHE 3 |=ZE &= ZERE 07.22 |*
6 200 26.34 | +0.6 |®R% HEMH 3 |[FBEN &= ZERE 07.22 |*
7 200 26.35 | +2.0 |[FA HY 2 |E+8 Bk ZERE 07.30 |*
8 200 26.40 | +0.6 K B 3 |ZR &= ZERE 07.22 |*
9 200 2641 | +0.6 (AP &Y 2 |=E &= ZERE 07.22 |*
9 200 2641 | +2.0 |FH WKiE 3 |#F Bk ZERE 07.30 |*
11 200 26.43 | +1.3 [l B 3 |EiEm &= ZERE 07.22 |*
12 200 26.81 | +1.3 |IEIAESE 3 |Ex &= ZERE 07.22 |*
13 200 26.87 | +1.3 |#RE FEth 3 |ER ZERE 07.22 |*
14 200 26.90 | +1.0 O % 3 |#®yE ZERE 07.22 |*
15 200 2691 | +1.0 [ME #EF 3 [BE ZERE 07.22 |*
16 200 26.92 | +1.0 [#HF T 2 |MBEmE =ZERE 07.22 |*
17 200 27.00 | -0.7 |[{FEE E®R 1 % =iy 17 FHE(FE18[E]) mEM 07.31 |*
18 200 27.01 | 00 |—f& ZEK 1 |#F EHRE T A SR (3E4ME) SHEmE 09.11 |*
19 200 27.04 | +1.3 IUEX Bt 3 &%kt BiE ZERE 07.22 |*
20 200 27.05 | +10 AR B 3 |EE BiE ZERE 07.22 |*

R ik | BE K& 2 |fE x£ kst BB |EE
1 800 21520 | * |@EL EE 2 |=ZE 373 ZERE 07.30 |*
2 800 217.03 | * |[ARBEER 3 |[FEEI iR ZERE 07.30 |*
3 800 21919 | * |k FEEK 2 |AF HEHE ZERE 08.10 |*
4 800 21923 | * |HHA BF 2 3% BIEEREES ZERE 06.19 |*
5 800 2.20.00 | * |IUFTREE 3 |FBE 373 ZERE 07.30 |*
6 800 22058 | * |EH FE 3 |BER REHE ZERE 08.10 |*
6 800 22058 | * |[luQ AT 1 |k ZERIIUE ) ZERE 09.04 |*
6 800 22058 | * |k Em 2 |[FSEI Rz ZERE 10.09  [*
9 800 22086 | * |=i#@ EF 3 |fFBE 373 ZERE 07.30 |*
10 800 22301 | * | 8 2 |[FEEI FRESETFIE ZERE 08.16 |*
11 800 22324 | * |IUF HT& 3 MR Rz ZERE 10.09 |*
12 800 22332 | * |fRE ¥ 2 |=8 P4 B AR b mETM 06.12 |*
13 800 222367 | * |BH RE 3 B F B PR B BI(3E22E) RERT 05.02 |*
14 800 22412 | * BB EE 2 |&Kd AR FHE ZEERE 07.25 |*
15 800 22443 | * |E#E BF 3 |B& BiE ZERE 07.22 |*
16 800 22496 | * |Kk® AT 2 B F & HPREE B B (3E22E) RERT 05.02 |*
17 800 22499 | * [BIARKE 3 |HH BiE ZERE 07.22 |*
18 800 2.2538 | * |UHE FK 3 |#F EhRE T AL SR = (3 4E) SHEETE 09.11 |*
19 800 2.2556 | * |#HA R 2 |EME X i A (5563[E]) mEM 10.16  |*
20 800 22578 | * | YIF 2 ¥ =M XA (3E63E]) B 1016 |*




#R x| BE KA 2E B P ] %5 BB &%
1 1500 43898 | * IR FEK 2 |B8F Y aZTHYVE v BERZOT L 1022 |*
2 1500 4.44.23 | * |@EL EE 2 |=ZE BiE ZEERE 07.23 |*
3 1500 44440 | * |BEH FR 3 |BER 373 ZERE 07.30 |*
4 1500 44502 | * |FA EBF 2 |#m% BiE ZERE 07.23 |*
5 1500 44523 | * |BAH#F BF 3 |BER Yo-a-zn b ZERE 04.25 |*
6 1500 44553 | * |)k& BHIE 2 |BER 373 ZERE 07.30 |*
7 1500 4.47.22 | * |IUTREE 3 |FBE BiE ZERE 07.23 |*
8 1500 44731 | * |E#E BF 3 |HIE BiE ZERE 07.23 |*
9 1500 44738 | * |&F #F 3 | BiE ZERE 07.23 |*
10 1500 44763 | * |ARBEER 3 |[FEE Yu=h-=n" b ZERE 04.25 |*
11 1500 4.49.04 | * |NE Em 2 |[FEEI 373 ZERE 07.30 |*
12 1500 45098 | * |=@# EF 3 |fFBE HEHE ZERE 08.10 |*
13 1500 45134 | * |58 R 2 |EMER M B i -2 b mHEM 06.13 |*
14 1500 45228 | * |FEW FEHh 2 |—& Yu=h==n" b ZERE 0425 |*
15 1500 45371 | * |&  #m 3 |fFBE 373 ZERE 07.30 |*
16 1500 45714 | * |RED #&% 3 |88 BIE ZERE 07.23 |*
17 1500 4.58.42 | * |BA FEH 3 |EM BE ZERE 07.23 |*
18 1500 45846 | * |EE ME 2 |@yil BIEERGEES ZERE 06.19 |*
19 1500 45856 | * |& %A 3 |)\A BE ZERE 07.23 |*
20 1500 45942 | * |BE XB 2 | el Sl oy e ) e]=k) 06.13 |*

#R x| BE KA 2E B P %S BB &%
1 2000 6.20.45 | * |k Em 2 |[FEE Rz ZERE 10.10 |*
2 2000 6.30.60 | * |ARBEER 3 |[FEE Rz ZERE 10.10 |*
3 2000 6.31.01 | * |[EH FR 3 |BER Rz ZERE 10.10 |*
4 2000 6.31.22 | * |E#E WF 3 |HIA Rz ZERE 10.10 |*
5 2000 6.32.11 | * |F #£F 3 | Rz ZERE 10.10 |*
6 2000 6.3453 | * |=@# EF 3 |#BE Rz ZERE 10.10 |*
7 2000 6.35.35 | * |/k& HIE 2 |BER BhFZEEHX PR RERT 08.30 |*
8 2000 6.36.92 | * |RAH FRF 3 |BER Rz ZERE 10.10 |*
9 2000 6.37.39 | * |&FE IR 1 |—& Rz ZERE 10.10 |*
10 2000 6.39.07 | * |k FEK 2 |8% Rz ZERE 10.10 |*
11 2000 6.39.66 | * |&  #m 3 |fFBE BhFFAES TR ZERE 09.25 |*
12 2000 6.4157 | * |EIL EE 2 |—& Rz ZERE 10.10 [*
13 2000 6.42.40 | * |[luO & 1 |k BhFZEEHX PR REHRT 08.30 |*
14 2000 6.45.74 | * |HHA BF 2 |IEF B =i X s mHEH 08.27 |*
15 2000 6.46.49 | * |ERED #&% 3 |88 Bz ZERE 10.10 [*
16 2000 6.48.68 | * |#En R 2 |EMNE R ZERE 10.10 [*
17 2000 6.50.23 | * |[ILE ## 2 |[EhE B ZERE 10.10 [*
18 2000 6.50.79 | * |8& FEMW 1 |=H Bz ZERE 10.10 [*
19 2000 6.51.40 | * |#EIL EF 2 |=E Bz ZERE 10.10 [*
20 2000 6.51.62 * | BE 2 |#EgaEl B FAERFE ZERE 09.25 |*

#R x| BE KA 2E B P %5 BB &%
1 3000 10.02.98| * |Kk& HIE 2 |BER FriE R RIFEHSR L L= (BE3E) INERE 09.18 |*
2 3000 10.06.68| * |&E#E HF 3 |RIE FriE R RIFEH SR L AL (B4 INEBRE 10.16  |*
3 3000 10.13.96 | * |ME Em 2 |[FEE A3t X R PR A F i (B 11E]) ZERE 1211 |*
4 3000 10.23.64| * |#EH FR 3 B ZERIUE ) ZERE 09.04 |*
5 3000 10.24.79| * |=@# EF 3 |BEBE F S X R EEREE F4E (5 11E]) ZEERE 1211 |*
6 3000 10.25.78| * |k EB 2 |AF £ 8 i1 = BR iR A2 (B 3(E]) SRR E 1204 |*
7 3000 10.26.15| * |F #F 3 | P4 B v & PR Al 3% F 4 (35 31E]) ef=l) 12.18 |*
8 3000 10.29.82| * |[WFTKREEF 3 |FBE A3t X & R A% F i (BE 11E]) ZERE 1211 |*
9 3000 10.30.38| * |&  #m 3 |##BE ZERIUE ) ZERE 09.04 |*
10 3000 10.34.84| * |HEA EBF 2 |#m% P4 B v & PR Al 338 F 4 (35 31E]) e B 12.18 |*
11 3000 10.34.94| * |#F#E R 1 |—& #5 R R B EE FAE(5E3E) ST E 1204 |*
12 3000 10.38.98| * |ARBEER 3 |[FEE ZERIUE ) ZERE 09.04 |*
13 3000 10.40.31| * |FEWI FA 2 |—& 5 R R PR EE FAE(SE3E) ST E 1204 |*
14 3000 10.40.72| * |#H R 2 |EME M B & B #HE F M (5E31E]) mEM 1218 |*
15 3000 104145 * |BE% KB 2 |l M B R B EHE F 1 (5E31E]) mET 1218 |*
16 3000 10.48.93| * |RIHERKE 3 |#HH FA S X R EERE S F4E (B 11[]) ZERE 1211 |*
17 3000 10.51.92| * [T FR 3 |iMr SR RIEMEFE(EL11E) ZERE 1211 [*
18 3000 10.52.00| * |FAABKT 1 A8 #hBe T R BR A3 HE (BE.3ME)) shEETE 12.04 [*
19 3000 10.53.15| * | BF 2 | P4 B v 5 R 538 5F 4 (35 31[E]) B 12.18 |*
20 3000 10.53.64| * |BAH BF 3 |BER ZERIUE ) ZEERE 09.04 |*




#R x| BE KA 2E B P ] %5 BB &%
1 100H(0.762) 14.60 | +1.8 |REH FHE 3 |[FEE LHAHZE B 08.22 |*
2 100H(0.762) 1479 | +1.9 [IUA F3 3 A&iE ZEERE 07.22 |*
3 100H(0.762) 15.37 | +1.8 |[lRO  #&m 3 |#*EB 373 ZERE 07.30 |*
3 100H(0.762) 1537 | +1.8 [{EHEEF 2 | FHRIE 373 ZERE 07.30 |*
5 100H(0.762) 1541 | +1.8 [AA FZE 3 |—& 373 ZERE 07.30 |*
6 100H(0.762) 1544 | +1.9 |&d BIE 2 |m% BiE ZERE 07.22 |*
7 100H(0.762) 1561 | +1.9 |[F& 4F 1 |E&E BiE ZERE 07.22 |*
8 100H(0.762) 1566 | +1.4 |[{FlE F=E 3 |FBE BEHESFES ZERE 06.10 |*
9 100H(0.762) 15.79 | +0.8 [ILiR FXK 3 |[FEE FRESHEFIE ZERE 08.16
10 100H(0.762) 15.83 | +1.2 |H#FX #% 2 |BER BiE ZERE 07.22 |*
11 100H(0.762) 15.83 | +1.8 |EFH 23 2 |—& 373 ZERE 07.30 |*
12 100H(0.762) 16.02 | +2.0 |[4$H BB 2 |=ZE ZERIIUE ) ZERE 09.05 |*
13 100H(0.762) 16.03 | +1.9 |[m& E# 3 |ARE BE ZERE 07.22 |*
14 100H(0.762) 16.04 | +1.4 8K #Z= 2 |BXE =ZFERIE v ZERE 09.05 [*
15 100H(0.762) 16.04 | +0.9 |RF UMY 2 |[FEEI =ZEBRIIUE ) ZERE 09.05 |*
16 100H(0.762) 16.32 | +1.2 |NH PF§E 3 |BlLFER BE ZERE 07.22 |*
17 100H(0.762) 16.34 | +1.4 |tk BE PEES =FERIE v ZERE 09.05 [*
18 100H(0.762) 16.40 | +1.4 |5R 2 3 |#HH FETESFES ZERE 06.10 |*
19 100H(0.762) 16.47 | +0.1 =@ XZF 3 |—-& P4 B i PR - B 06.12 |*
20 100H(0.762) 16.63 | +0.2 | S&F 3 [WF B =i X P33 izl 08.26 |*
#R ek | BE KA 2E B P %5 BB |EE
1|  100YH(0.762-8.5) 14.88 0.9 [ILAH Fx 3 ZERIUE ) ZERE 09.05 |*
2| 100YH(0.762-8.5) 15.04 | +0.6 |REH FHE 3 |[FEE ZERIUE ) ZEERE 09.05 [*
3| 100YH(0.762-8.5) 1559 | -0.9 |RO_ #&n 3 |&A ZERIUE ) ZERE 09.05 [*
4| 100YH(0.762-8.5) 16.89 | +0.6 [AA HZx 3 |—& ZERIUE ) ZEEE 09.05 |*
5| 100YH(0.762-8.5) 16.97 | +0.6 |[{8H Tk 3 | FHE =ZERIUE ) ZERE 09.05 [*
6| 100YH(0.762-8.5) 17.27 | +0.6 [\NFF  HEE 3 |EE =ZEERIUE ) ZERE 09.05 [*
7| 100YH(0.762-8.5) 1741 | 09 |FHEFE 3 |=E =ZEERIUE ) ZERE 09.05 |*
8| 100YH(0.762-8.5) 1747 | 09 |=# XZE 3 |—& =ZEERIUE ) =EERE 09.05 |*
9| 100YH(0.762-8.5) 17.71 | +06 %k EF 3 |Ex =EERIIUE ) =EERE 09.05 |*
10|  100YH(0.762-8.5) 18.75 | +0.6 |k BT 3 |WF =EEIIUE ) ZERE 09.05 |*
11| 100YH(0.762-8.5) 19.63 | +0.6 |[dhH #E% 3 |AE =ZERIuE v ZERE 09.05  |[*
12|  100YH(0.762-8.5) 20.67 | +0.6 |FHE =X 3 |BEE ZERIIUE vy ZERE 09.05 [|*
=] mix | BE KB 2 FE £ st ] A8 |iEE
1 EEBE 1m58 * iR FXR 3 |[FBEN Y aZTRYuE" v BERZOT L 10.24  |*
2 E B 1m51 * |BHEER 3 [XK B e E i X FE fhEETHE SHEEmE |*
2 E B 1m51 * |HRiED RS 2 (%% B X HFE(FE3E) RERT 06.05 |*
4 Em Bk 1m50 * | LA BD 3 |RE+f BEHESFES ZEERE 06.10 |*
4 EEB 1m50 * |ELHEE 3 |®i#E HiEHE ZERE 08.10 |*
6 EEB 1m48 * BB Em 3 |HH BiE ZERE 07.22 |*
6 E B 1m48 * |Bll EHifg 3 [BERK B X FEEHF=(FE3E) RERT 06.05 |*
8 EEB 1m47 R EE S = RRHS(5E2E) ZERE 10.03 |*
9 EEB 1m45 * | xE 3 |B# FZRBRFHE RERT 08.21 |*
9 EEB 1m45 * |OEIRR 2 |J\R B =M X Pk izl 08.26 |*
9 EEB 1m45 * |E fBifE 3 |&uW &= ZERE 07.22 |*
9 EEB 1m45 * |FE EW 2 |1B% HARETFHE ZERE 07.25 |*
13 EEB 1m44 * |HE E#R 3 |8% P4 B R PR - mEM 06.12 |*
14 E Bk 1m43 * |EA Em 2 |k Rz ZEERE 10.09 |
15 E Bk 1m41 * |ERBE R 3 |ZEXKE EREHES(5E2E) ZEERE 10.03 |*
16 EEB 1m40 * |8 DAL 2 |fFBE BiE ZERE 07.22 |*
16 Em Bk 1m40 * |FE MY 3 |#k &= ZERE 07.22 |*
16 E B 1m40 * |NIIERTF 3 [/\A 1B ch = Mih X P A 08.26 |*
16 EEB 1m40 * B RF 2 |EH &= ZERE 07.22 |*
16 EEBk 1m40 * |RHiREZ 3 |ZEXKE &= ZERE 07.22 |*
16 EEBk 1m40 * [l \rE 3 | FH shEE T ACER = (5 3ME) T E 06.05 |*
16 EEB 1m40 * [EERID 3 |[FEE ZERIUE ) ZERE 09.04 |*
16 EEB 1m40 RN BE 3 |k Rz ZERE 10.09 |*
#R x| BE KA 2 B P ] RIS Ar  |EE
1 ENEBE 5m34 | +1.1 [l  FK 3 |[FEE &= ZERE 07.23 |*
2 ENEBE 5m25 | +1.3 [IUx FEE 2 |[FBEEN Bk ZERE 07.30 |*
3 ENEBE 5m24 | +2.0 |FREAITLY 3 |AHEW Bz ZERE 10.10 |*
4 ENEBE 5m20 | +1.6 |EIEFHE 2 |RBE BEHESFES ZEERE 06.10 |*
5 ENE B 5m12 | +0.8 |Bil B 3 |BER 373 ZEERE 07.30 |*
6 ENEBE 5mil | +1.2 |HHO HEf 3 |Ex BiE ZERE 07.23 |*
6 ENEBE 5mil | +14 |[RO  #&m 3 |&E EhREE T AL SR = (3 2ME) ST E 05.02  |*
8 ENEBE 5m10 | +1.6 |MILERF 3 [J\A P4 B AR - mAETM 06.13 |*
9 ENEBE 5m02 | +1.9 |E S vH 3 |RER SR FHE(F45E) mAETM 10.02 |
10 ENEBE 5m01 | +1.2 |EF & 3 |E+8 &= ZERE 07.23 |*
10 ENEBE 5m01 | +1.9 |#TA FER 3 |=ZR 373 ZERE 07.30 |*
12 ENEBE 5m00 | +1.9 | K& Fiy 3 |=E &= ZERE 07.23 |*
13 ENEBE 4m98 | +0.8 |fEM EE 3 |MF P4 B AR mEM 06.13 |*
14 TENEH 4m95 | +0.7 %% ED 1 |HE+#H ZERIUE ) ZERE 09.04 |*
15 ENEBE 4m91 | 0.0 |d)Il BEE 1 |—& ZERIUE ) ZEERE 09.04 |*
16 ENEBE 4m90 | +0.8 | #E 1 |E® A%t X AR SR = (FE3ME) ZEERE 1017 |*
17 ENEBE 4m89 | +1.5 [Pk FHE 2 |BR P4 B PRI mEM 06.13 |*
18 ENEBE 4m8s | +1.1 |AR AR 3 |HH ik ZERE 07.30 |*
18 ENEH 4m88 | +1.2 [hit 1&TY 3 |Ex BhPFAESFER ZERE 09.25 |*
20 ENEBE 4m87 | +1.7 |¥R WK 1| F X R Ek = (FE3E) ZERE 1017 |*
| L= [ @& | &[R4 | %% [FiR (k&% [BErS BEE  [EE
1 maBe721) | 14mo2 | * [dl mE& | 3 |BE B BEETE 08.10 |*




2 AR %(2.721) 13m70 Eis: &2 b 3 |AHEWL HiEHE ZERE 08.10 |*
3 AR %(2.721) 12m86 Ml BB 3 |BE Rz ZERE 10.10 |*
4 Faii%(2.721) 12m70 *|PE T 3 |BEBEI Bz ZERE 10.10 |*
5 AR i%(2.721) 12m26 * |BE BR 3 |Ex Rz ZERE 10.10 |*
6 % (2.721) 11m83 * |RE BN 3 |HH BEHESFES ZERE 06.10 |*
7 AR %(2.721) 11m76 * | R 3 |&E BiE ZERE 07.23 |*
8 AR %(2.721) 11m65 *  |HE BR 3 |EE BiE ZERE 07.23 |*
9 Fafk(2.721) 11m47 * A B8 3 |AE M EHFERA—=/3L mEM 06.13 |*
10 Fafk(2.721) 11m46 * |EE ®K 3 |[FHRE M EHFRERA—=/3L mEM 06.13 |*
1 Fafk(2.721) 11m43 *  |FEEm 3 |—5H /4 B i R A—=/ VL mEM 06.13 |*
12 AR %(2.721) 11m35 * Bk DE 3 |BHW BEHESFES ZERE 06.10 |*
13 AR %(2.721) 11m32 * | KA ER 2 |—& Rz ZERE 10.10 |*
14 AR i%(2.721) 11m31 *|BARYSF 3 |—& Rz ZERE 10.10 |*
15 Fafig(2.721) 11mo8 | * |IUEE BEF 3 Mm% WIREFIE ZERE 07.25 |*
16 % (2.721) 11m06 * /A REB 3 |AE BiE ZEERE 07.23 |*
17 AR %(2.721) 10m81 * %R BB 3 BB BHEEPEETER ZEERE 08.27 |*
18 A% 2.721) 10m73 * |BAHKIE 3 |&EI AR FHE ZEERE 07.25 |*
19 FaAi%(2.721) 10m26 | * |BEd Fip 3 |[@FE B h @i X P HEME0 8.26 |*
20 A% (2.721) 10m21 * |AE BF 3 |Ex &= ZERE 07.23 |*
=] x| BE KA 2E B K8 ks ] A |E%E
1 FM##%(1.0) 33m09 | * |PF FE 3 |FEE P EHER(EFE3ME) ZERE 10.17 *
2 A& $5(1.0) 31m62 *|EE FE 3 |J\A ZERIAYVEYY ZERE 09.04 *
3 A& #5(1.0) 31m60 * |#HARYSF 3 |—& ZERIAYVEYY ZERE 09.04 *
4 F82#%(1.0) 31m55 | * |HBEFN 3 |&m|l B EHRELTE ZERE 09.24 *
5 M #&1%(1.0) 28m12 * | BE 3 |BE ZRMRBIREBHRES RER 04.10 *
6 A2 $5(1.0) 27m54 * AR A< 3 |=EE MIRETF ZERE 07.25 *
7 A8 #5(1.0) 27m39 * | RE B 3 |HH &= ZERE 07.22 *
8 A #&1%(1.0) 26m68 * e 28 3 |AE ZERIAYVEYY ZERE 09.04 *
9 F##5%(1.0) 26m45 | * | Kit KE 2 |[BgEl B PpSESTE ZEEE 09.24 *
10 M #%(1.0) 26m34 * |ELEEE 3 |—& AR FHE ZERE 07.25 *
11 A& $%(1.0) 26m31 * |BE ¥K 3 |[FHRE BiE ZEERE 07.22 *
12 M##%(1.0) 26m29 | * |FEE#HEM 3 |—5HA mAfRRERA—=/NL izl 06.12 *
13 M #%(1.0) 25m49 * My BB 3 |Ex BhFFAES TR ZERE 09.24 *
14 A& $%(1.0) 25m48 * PR BRAE 3 |1E% BiE ZERE 07.22 *
15 A& #%(1.0) 25m40 * HEKR OER 3 [iBK BEHESFES ZERE 06.10 *
16 A& #(1.0) 25m30 * kB BE 3 |[WF Bz ZERE 10.09 *
17 M#21%(1.0) 25m27 * |BAEKRF 3 |EH BhFFRAES TR ZERE 09.24 *
18 A #&%(1.0) 25m23 * gk EB 3 |IMR BEHESFES ZERE 06.10 *
19 A& $(1.0) 24m96 * Bk BE 3 |BHW BhFFAES TR ZERE 09.24 *
20 M#2%(1.0) 24m72 kB #HE 3 |B2E A&iE ZERE 07.22 *
#R R | AR (KA FE R P ] %5 A |EE
1 DAy 45m07 * RE BR 3 |[WF ZFERIAIVEYY ZERE 09.05 *
2 DAy 43m08 * |BRER R 1 |8 ZFERIAIVEYY ZEERE 09.05 *
3 DAy 39m27 * iR FXR 3 |[FEE ZERIAIYVEYY ZEERE 09.05 *
4 DAy 39m05 * |RE FE 3 |/\A ZFERIAIYVEYY ZEERE 09.05 *
5 DAy 38m25 * vl B 3 |Ex ZERIAIVEYY ZERE 09.05 *
6 DAy 38m19 * BB BB 3 |28 ZERIAIVEYY ZERE 09.05 *
7 DAy 37m97 * |RE BN 3 |HH ZERIAIYVEYY ZERE 09.05 *
8 DAy 35m27 * B BX 2 |Ex ZERIAIYVEYY ZERE 09.05 B
9 DAy 33m87 > |HRE ARk 3 |E® ZERIAYVEYY ZERE 09.05 *
10 Paavryi 33m84 (Al =R 2 |BB# ZERIAYVEYY ZERE 09.05 *
11 Paavryi 31m14 e 3 /MR ZFERIAYVEYY ZERE 09.05 *
12 Paavryi 25m13 * | EHEWANE 1 |dbiE BEHESFES ZERE 06.10 *
13 Paavryi 24m36 > |pThr B 1 |&HWL BEHESFES ZERE 06.10 *
14 Paavryi 22m66 * |@0O HE 1 |H BREHESFES ZEERE 06.10 *
15 DAy 22m65 * |w#E B 1 |#HE BEHESFES ZEERE 06.10 *
16 DAy 22m28 * |SHAEBRE 1 [#8E BEHESFES ZEERE 06.10 *
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